Efficiency vs dr

x 0.8
<
2 07
>
)
G 0.6
)
=
o 0.5
0.40 14
0.3Ht-{4-
0.2fr-
0.1 --
o A hii
= r —=— DQM_original_step2_ttbar-phasel-newgeom
&U 4__" —e— DQM_pixelCPE_step2_ttbar-phasel-newgeom
L —— DQM_| p|><e|CPECh|20R2 step2_ttbar- phasel newgeom
o R T
107 1072 10™

1
TP min AR

[ Efficiency vs dr (track,jet) |
0.5

P, jet
o
. D

0.35

©
w

0.25

effnuency vs AR(T

o
[N

1073 1072 107

AR(TP, jet)
Efficiency vs pu
- 0.8
o
2 0.7F -t
>
(8]
5 0.6F----+----- P A P F
Qo
R0 X| SERE SERSE SRR R U R 1o

o
Iy
i
A

0_ 3 ...........................................
e
0.2 +++++++ﬁ*ﬁi
57 SRR A 008 SRS R s '- -
H H + H
o ofeedldith od ;!‘.-.*.'.';r.*rr@.?r. .

20 30 40 50 60 70 80 90 100
Pileup



	Contents
	Page 1


